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1.

According to the short-run Phillips curve, when actual real GDP is potential output,
the price level and the unemployment rate falls.

A) below; increases

B) above; decreases

C) below; decreases

D) above; increases

If the economy is suffering from a recessionary gap, the Fed should conduct monetary
policy by the money supply.

A) expansionary; decreasing

B) expansionary; increasing

C) contractionary; decreasing

D) contractionary; increasing

. To decrease the money supply, the central bank could:

A) lower the discount rate.

B) make open-market sales.

C) increase the discount rate.

D) lower the federal funds rate spread.

Income-expenditure equilibrium GDP is:

A) the level of GDP at which the unemployment rate is zero.

B) the level of GDP at which GDP equals planned aggregate spending.

C) the level of GDP at which there are no savings.

D) the level of GDP at which autonomous consumption equals planned inventory investment.

. All other things unchanged, a general increase in the amount of government borrowing will

typically:

A) shift the loanable funds demand curve to the left and decrease interest rates.
B) shift the loanable funds demand curve to the right and increase interest rates.
C) have no effect on the loanable funds demand curve.

D) have no effect on the demand for loanable funds.

Diminishing returns to physical capital implies that, when human capital per worker and the
state of technology remain fixed, each successive increase in physical capital leads to:

A) asmaller increase in productivity.

B) alarger increase in productivity.

C) adecrease in productivity.

D) negative productivity.

. The intermediate goods are not counted in the calculation of GDP, because:

A) that involves double-counting.

B) these goods are not produced for the market.

C) these are produced in the underground economy.
D) these goods involve financial transactions.

. If a price index in Year 1 is 146 and in Year 2 is 163, the rate of inflation between Year | and

Year 2 is

A) 82%
B) 10.43%
C) 11.64%
D) 15.0%
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In a perfectly competitive labor market, the equilibrium wage in the industry:
A) is the same for all firms hiring in that market.

B) is always greater than the value of marginal product.

C) results in diminishing marginal product.

D) causes some people to be unemployed in this industry.

When a good is nonexcludable:

A) consumers will pay the producers the market price for the good.
B) producers will produce too much of the good.

C) a free-rider problem will exist.

D) production will be efficient.

An inefficient allocation of resources will occur when:

A) decision makers are faced with the full costs and benefits of their actions.

B) there are clearly defined property rights.

C) no alternative exists that would increase the welfare of society.

D) decision makers are not faced with the full benefits and costs of their choices.

The difference between the marginal social benefit curve and the market demand curve is the:

A) additional cost of producing an additional good.
B) marginal external cost.

C) marginal benefit to the consumers of the good.
D) marginal external benefit.

When tradable emissions permits are used, if the demand for emissions shifts to the right, the

equilibrium price of permits
A) falls; increases

B) increases; stays the same
C) falls; falls

D) stays the same; increases

, and the equilibrium quantity

If a firm under monopolistic competition is producing a quantity that generates MC' < MR, we

can assume profit can be by
A) increased; decreasing production
B) increased; increasing production
C) increased; increasing the price

D) maximized; decreasing production

A dominant strategy equilibrium exists in a game when:

A) every player has no choice.

B) every player makes the same choice, regardless of the action of the other players.
C) each player makes the best choice, given the choice of the other player.

D) no player is able to dictate the actions of any other player.

If price is greater than average variable cost and less than average total cost at the
profit-maximizing quantity of output in the short run, a perfectly competitive firm will:
A) produce at an economic loss.

B) produce at an economic profit.

C) shut down production.

D) produce more than the profit-maximizing quantity.
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17. If all firms in an industry are price-takers, then:
A) each firm can take the price that it wants to charge and sell at this price, provided it is not
too different from the prices other firms are charging.
B) each firm takes the market price as given for its current output level, recognizing that the
price will change if it alters its output significantly.
C) an individual firm cannot alter the market price even if it doubles its output.
D) the market sets the price, and each firm can take it or leave it (by setting a different price).

18. Which of the following statements is frue?

A) The substitution effect always involves a change in consumption in the same direction as
the change in the budget.

B) The substitution effect always involves a change in consumption in the same direction as
the change in price.

C) The substitution effect always involves a change in consumption in the opposite direction
as the change in price.

D) The substitution effect always involves a change in consumption in the opposite direction
as the change in the budget.

19. Given the demand curve for a good, the more inelastic the supply curve, the o
equilibrium output will fall and the will be the deadweight loss when the government
imposes an excise tax.

A) more; smaller
B) more; larger
C) less; smaller
D) less; larger

20. At the point at which it is currently producing, Britain must give up the production of 75 hats to
produce 25 additional sweaters. The opportunity cost of producing 4 sweatersis ___ hats.
A) 4
B) 12
€y 7l
D) 79

21. Suppose a local hardware store has explicit costs of $2 million per year and implicit costs of
$44,000 per year. If the store earned an economic profit of $50,000 last year. this means that the
store's accounting profit equaled:

A) $94,000.
B) $6.,000.

C) $2,050,000.
D) $2,044,000.

22. If your purchases of shoes increase from 9 pairs per year to 11 pairs per year when your income
increases from $19,000 to $21,000 a year, other things equal, then, for you, shoes are considered
a(n):

A) normal good.

B) inferior good.

C) complementary good.
D) substitute good.
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23. Which of the following is a reason for governments imposing or maintaining price controls?
A) Both consumers and producers benefit from price controls.
B) It may be politically expedient to impose price controls that benefit influential voting
groups.
C) The government benefits from price controls.
D) Price controls improve the efficiency of the market.

24. A minimum price set above the equilibrium price is a:
A) demand price.
B) supply price.
C) price floor.
D) price ceiling.

25. Technological improvements will:
A) leave the production possibility frontier unchanged.
B) shift the production possibility frontier inward.
C) shift the production possibility frontier outward.
D) necessarily lead to increased unemployment.
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